

$$\mathfrak{h}_{\bigtriangleup_m^p}\mathbb{K}=\frac{\mathfrak{h}\overset{\gamma}{\xrightarrow{\text{mes}}}\mathbb{K}}{\int\limits_{\mu}\mathfrak{h}\overline{\gamma}^p}<\infty\sqsubset\mathfrak{h}_{\bigtriangleup_m^p}\mathbb{K}$$

$$\mathfrak{h}_{\bigtriangleup_m^p}\mathbb{1}=\mathfrak{h}_{\bigtriangleup_m^p}\mathbb{K}\mathfrak{x}\mathbb{1}$$

$$\mathfrak{h}\overset{\dot{\gamma}}{\underset{\text{p-int}}{\longrightarrow}}\mathbb{1}\Rightarrow\gamma+\acute{\gamma}\text{ p-int}$$

$$\overline{{}^p\gamma+{}^h\gamma'}\leqslant 2^p\left(\overline{{}^h\gamma}\wedge\overline{{}^h\gamma'}\right)^p\leqslant 2^p\left(\overline{{}^h\gamma}+\overline{{}^h\gamma'}\right)^p\Rightarrow\overline{{}^p\gamma+{}^h\gamma'}\leqslant 2^p\left(\overline{{}^p\gamma}+\overline{{}^h\gamma'}^p\right)$$

$$x{:}y\geqslant 0\overset{*}{\Rightarrow}xy\leqslant \frac{x^p}{p}+\frac{y^q}{q}$$

$$x^p\underset{\mathrm{OE}}{\geqslant}y^q\Rightarrow x\geqslant y^{q/p}$$

$$(*) \text{ for } x=y^{q/p}$$

$$x\geqslant y^{q/p}\Rightarrow x^{(p-1)q}=x^p\geqslant y^q\Rightarrow \frac{d}{dx}\underline{xy}=y\leqslant x^{p-1}=\frac{d}{dx}\underline{\frac{x^p}{p}+\frac{y^q}{q}}\overset{\text{MWS}}{\Rightarrow} (*) \text{ for } x\geqslant y^{q/p}$$

$$\mathfrak{h}_{\bigtriangleup_m^p}\mathbb{1}\mathfrak{x}\mathfrak{h}_{\bigtriangleup_m^q}\mathbb{1}\overset{\text{contr}}{\overset{\infty}{\longrightarrow}}\mathfrak{h}_{\bigtriangleup_m^1}\mathbb{1}\overset{\text{tr}}{\longrightarrow}\mathfrak{h}_{\bigtriangleup_m^1}\mathbb{K}\overset{\overset{\mathfrak{h}}{\int}}{\underset{\mu}{\longrightarrow}}\mathbb{K}$$

$$\overline{{}^{\mathfrak{n}}\gamma\overset{\oplus}{\times}\acute{\gamma}}\leqslant\overline{{}^{\mathfrak{n}}\gamma}{}^{\mathfrak{n}}\overline{\gamma}$$

$$\mathfrak{h}_{\bigtriangleup_m^p}\mathbb{1}\mathfrak{x}\mathfrak{h}_{\bigtriangleup_m^q}\mathbb{1}\overset{\text{contr}}{\overset{\infty}{\longrightarrow}}\mathfrak{h}_{\bigtriangleup_m^r}\mathbb{K}$$

$$\overline{\gamma \times \gamma} \leq \overline{\gamma} \overline{\gamma}$$

$$\int_{\mu}^{\mathfrak{h}} \frac{\overline{\mathfrak{h} \gamma \times \mathfrak{h} \gamma}}{\overline{\gamma} \overline{\gamma}} \leq \int_{\mu}^{\mathfrak{h}} \frac{\overline{\mathfrak{h} \gamma}}{\overline{\gamma}} \frac{\overline{\mathfrak{h} \gamma}}{\overline{\gamma}} \leq \frac{1}{p} \int_{\mu}^{\mathfrak{h}} \frac{\overline{\mathfrak{h} \gamma}^p}{\overline{\gamma}^p} + \frac{1}{q} \int_{\mu}^{\mathfrak{h}} \frac{\overline{\mathfrak{h} \gamma}^q}{\overline{\gamma}^q} = \frac{1}{p} + \frac{1}{q} = 1$$

$$\overline{\gamma \times \gamma}^r = \int_{\mu}^{\mathfrak{h}} \overline{\mathfrak{h} \gamma \times \mathfrak{h} \gamma}^r \leq \int_{\mu}^{\mathfrak{h}} \overline{\mathfrak{h} \gamma}^r \overline{\mathfrak{h} \gamma}^r \leq \underbrace{\int_{\mu}^{\mathfrak{h}} \overline{\mathfrak{h} \gamma}^{r \cdot p/r}}_{r/p} \underbrace{\int_{\mu}^{\mathfrak{h}} \overline{\mathfrak{h} \gamma}^{r \cdot q/r}}_{r/q} = \overline{\gamma}^r \overline{\gamma}^r$$

$$\mathfrak{h}_{\bigtriangleup_m^p} \mathbb{K} \overset{\text{isomet}}{\longleftarrow *} \mathfrak{h}_{\bigtriangleup_m^p} \mathbb{K}$$

$$\overline{\gamma + \gamma} \leq \overline{\gamma} + \overline{\gamma}$$

$$\overline{\gamma + \gamma}^p = \int_{\mu}^{\mathfrak{h}} \overline{\mathfrak{h} \gamma + \mathfrak{h} \gamma} \overline{\mathfrak{h} \gamma + \mathfrak{h} \gamma}^{\overline{\mathfrak{h} \gamma + \mathfrak{h} \gamma}^{p-1}} \leq \sum \int_{\mu}^{\mathfrak{h}} \overline{\mathfrak{h} \gamma} \overline{\mathfrak{h} \gamma + \mathfrak{h} \gamma}^{\overline{\mathfrak{h} \gamma + \mathfrak{h} \gamma}^{p-1}} \leq \sum \int_{\mu}^{\mathfrak{h}} \overline{\mathfrak{h} \gamma}^{p^{1/p}} \underbrace{\int_{\mu}^{\mathfrak{h}} \overline{\mathfrak{h} \gamma + \mathfrak{h} \gamma}^{\overline{\mathfrak{h} \gamma + \mathfrak{h} \gamma}^{(p-1)q}}_{1/q}} = \underbrace{\overline{\gamma} + \overline{\gamma}} \overline{\gamma + \gamma}^{p/q}$$

$$p-p/q=p(1-1/q)=p1/p=1\Rightarrow \overline{\gamma + \gamma} = \frac{\overline{\gamma + \gamma}^p}{\overline{\gamma + \gamma}^{p/q}} \leq \overline{\gamma} + \overline{\gamma}$$

$$\begin{cases} \mathfrak{h}_{\bigtriangleup_m^p}\mathbb{K} \text{ voll} \\ \mathfrak{h}_{\bigtriangleup_m^p}1 \text{ voll} \quad 1 \text{ voll} \end{cases}$$

$$\mathfrak{h}_{\bigtriangleup_m^p}1 \ni \gamma_n\colon \quad c=\sum_{0\leqslant n}\overline{\gamma_n}<\infty$$

$$^{\mathfrak{h}}\mathfrak{A}_n\colon=\sum_i^n\overline{{}^{\mathfrak{h}}\gamma_i}\Rightarrow \mathfrak{A}_n\nearrow \mathfrak{A}\colon\mathfrak{h}\xrightarrow{\text{meas}}\bar{\mathbb{R}}_+$$

$$\overline{\mathfrak{A}_n}\leqslant\sum_i^n\overline{\gamma_i}\leqslant c\Rightarrow s^p\geqslant\int_{\mu}^{\mathfrak{h}}\mathfrak{A}_n^p\overset{\text{MCT}}{\nearrow}\int_{\mu}^{\mathfrak{h}}\mathfrak{A}^p\leqslant c^p\Rightarrow\mathfrak{A}^p\text{ int}\Rightarrow\bigvee_E^{\mathcal{M}}\downarrow_{\mathfrak{h}\perp E}=0\bigwedge_{\mathfrak{h}}^E{}^{\mathfrak{h}}\mathfrak{A}^p<\infty$$

$$\Rightarrow \sum_{i\geqslant 0}\overline{{}^{\mathfrak{h}}\gamma_i} = {}^{\mathfrak{h}}\mathfrak{A} < \infty \overset{\text{voll}}{\Rightarrow} \bigvee 1 \ni {}^{\mathfrak{h}}\gamma = \sum_i^{\mathbb{N}} {}^{\mathfrak{h}}\gamma_i \Rightarrow E \xrightarrow[\text{mb}]{\gamma = \sum_i^{\mathbb{N}} \gamma_i} 1$$

$$\overline{{}^{\mathfrak{h}}\gamma}\leqslant\sum_i^{\mathbb{N}}\overline{{}^{\mathfrak{h}}\gamma_i}={^{\mathfrak{h}}\mathfrak{A}}\Rightarrow\text{int}\;2^p{}^{\mathfrak{h}}\mathfrak{A}^p\geqslant\overline{\sum_i^n{}^{\mathfrak{h}}\gamma_i-{}^{\mathfrak{h}}\gamma}\rightsquigarrow 0\overset{\text{DCT}}{\Rightarrow}\int_{\mu}^E\overline{\sum_i^n{}^{\mathfrak{h}}\gamma_i-{}^{\mathfrak{h}}\gamma}\rightsquigarrow 0\Rightarrow\sum_i^n\gamma_i\overset{p}{\rightsquigarrow}\gamma$$

$$\mathfrak{h}_{\bigtriangleup_c^0}\mathbb{R}\overset{\text{hull}}{\sqsubset}\mathfrak{h}_{\bigtriangleup_m^p}\mathbb{R}\overset{\text{hull}}{\supset}\mathfrak{h}_{\bigtriangleup_m^{p:\infty}}\mathbb{R}$$

$$\mathfrak{h}_{\bigtriangleup_m^p}\mathbb{R}\ni\gamma=\gamma_{-}-\gamma_{+}$$

$$\gamma_1\in\mathfrak{h}_{\bigtriangleup_m^p}\mathbb{R}\overset{\text{OE}}{\Rightarrow}\gamma\geqslant 0\Rightarrow\bigvee 0\leqslant\varphi_n\nearrow\gamma\swarrow\dot{\varphi}_n\geqslant 0$$

$$\dot{\varphi}\leqslant\mathfrak{T}^p\text{ int}\;\Rightarrow\begin{cases}\varphi_n\downarrow\text{ fin supp}\\ \dot{\varphi}_n\text{ p-int}\end{cases}$$

$$0\rightsquigarrow\overline{\gamma-\dot{\varphi}_n}^p\leqslant\mathfrak{T}^p\overset{\text{DCT}}{\Rightarrow}\overline{\gamma-\dot{\varphi}_n}^p=\int_{\mu}^{\mathfrak{h}}\overline{\gamma-\dot{\varphi}_n}^p\rightsquigarrow 0$$